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#1: 11 BB 5 (152.5) #2: 13 JEH 51, 73) #3: 10 FF$(130.68)

1 NS: G30F ZIc#t(GHo) -18 12 NS: #B{E3E #FER(EAC) 8 VP:| 3.10 16.90 | Total VP: 104.56 Rank:
EW: BEEISZ FEEIEAC) -8 EW: ZERETS #BIEIE(FHO) 14 IMP:| 9 03 9
I I -
#1 & AT62 2CN5 150 Mean: 5CXN5 550 8.0 2 [|#2 » KQ932 4HWS5 -450 Mean: 6HW-1 50 110 1
v 5CN5400 230 5CN5 400 50 3 v A84 4SXN-3 -800 -460 4HW4 420 1.0 1
+ KQ96 Dif: -250 NS:-2 3SN4 170 20 1 ¢ 8753 Dif: 350 NS:0 5HW5 450 0.0 1
& AQ832 IMP: -6 EW:-5 3CN5 150 2.0 2 &3 IMP: 8 EW:8 4HW5 450 0.0 7
» K97 & J85 2NS4 180 20 1 ||s » AJ76 4HE5 450 0.0 1
v KQ72 v AJ964 2CN5 150 2.0 2 ||v J9632 I v KQ75 5HXW5 650 -50 2
* 842 ¢ JT53 2CN4 130 -3.0 1 ||e AQ4 * J6 4SXN-3 800 -8.0 1
+ K65 &T 5CN-1 -50 7.0 2 ||» AT876 » Q94
d+VOBN 4,Q43 o ¢ VAN 4 T854
N 5~~32 ¢T853 N~1~1~+T
S 5~~32 ¢A7 S ~1~1~ ¢ KT92
E ~~1~~ &J974 E 4~5~3 &KJ52
W ~~1~~ W 4~5~3
#3 » 9854 1HXS-3 -500 Mean: 3DXN-2  -300 7.0 1 ||# 4 » 853 3HS4 170 Mean: 4HS4 620 4.0 10
v 52 3DXN-2 -300 -580 1HXS-3 500 2.0 1 v A864 4HS4 620 490  4SXW-1 200 7.0 1
+ KT9764 Dif: 200 NS:2 5CW5 600 1.0 1 ¢ J97 Dif: -450 NS:-8 3HS4 170 8.0 2
IMP: -5 EW:-7 4HW4 620 -1.0 1 & AQ6 IMP: -10 EW:-4 2HS4 170 8.0 1
3NW3 600 -1.0 4 ||as AKJ4 & QT92
3NE3 600 -1.0 1 ||e 952 + v3
3NW4 630 -20 4 ||e Q852 * AT64
3NE4 630 -20 1 ||a& 52 » 9873
oo VAN ,76
N 3 ~4~2 v KQJT7
S 3~4~2 ¢K3
E ~2~2~ aKJT4
W ~2~2 ~
#5 4 J8 3NW4 -430 Mean: 3DW6 170 50 1 #6 s J 3HW-2 200 Mean: 5DXN5 550 60 6
v 87642 3NW5 -460 -380 2NW5 210 50 1 v A754 5DXN5 550 310  5DN5 400 3.0 2
¢ T95 Dif: 30 NS:-2 2Nw4 180 50 1 + KQ954 Dif: -350 NS:-3 3HW-2 200 -3.0 1
» Q97 IMP: 1 EW:2 3NW3 400 1.0 1 & A43 IMP: -8 EW:-6 4DN5 150 4.0 2
& KT64 a 52 3NW5 460 -20 1 ||a AK76 » T984 3HW-1 100 5.0 1
v AQ v JT95 3NW4 430 -20 8 ||w T9832 — v KQJ6 2HW3 140 100 1
¢ AJ63 + Q872 1SXS-2 500 3.0 1 ||e T6 * A7 1NN-3 150 100 1
& T43 & AKJ a»T7 » Q92
¢ VBN 4, AQI73 o ¢ VAN 4 Q532
N ~~~~~ v K3 N 55~~~
§ ~~~~~ + K4 S 55~~~ ¢J832
E ~6~~6 &8652 E ~~11~ &KJ865
W ~6~~6 W ~~11~
#7 » 83 3SN3 140 Mean: 3NN3 600 9.0 1 ||#38 » Q72 3NS-2-100 Mean: 3NN3 400 8.0 1
v A985 2SN3 140 180  4HW-3 300 3.0 1 v 9853 3NN-1-50 50  3DS3 110 20 3
¢ 874 Dif: 0 NS:-1 3HW-2 200 1.0 1 + KQ62 Dif: -50 NS:-4 2DS3 110 20 2
& AKT7 IMP: 0 EW:1 3SN3 140 1.0 1 & K9 IMP: -2 EW:3 1NS1 90 1.0 1
» J96 a 52 28S3 140 1.0 3 [|s A8 a T954 3CW-1 50 00 1
v KJT7 + v Q64 2SN3 140 1.0 5 ||e JT2 v KQ6 1NW-1 50 00 1
+ K96 * AQJ2 1SS3 140 1.0 1 |[|e AT7 ¢ 95 3NS-1 50 3.0 1
» 864 S » QJ92 2882 110 20 1 ||& Q7654 » T832 3NN-1 50 3.0 2
% ¢ VAN o, AKQT74 oo VAN 4, KIE3 4HN-2 100 -40 1
N ~~~33 ¢32 N ~3222 v A74 3NS-2 100 40 1
S ~~~33 ¢T53 S ~3222 ¢J843
E ~1~~~ &53 E 2~~~~ aAJ
W ~1~~+~ W 2 ~~~~
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#1: 11 BB 5 (152.5) #2: 13 JEH 51, 73) #3: 10 FF$(130.68)

2 NS: Z=E$HER JFHEHAI(EEO) -22 4 NS: & X BB4HEAC) 0 VP:| 4.00 16.00 | Total VP: 105.63 Rank:
EW: B BUE S5EEEIC) 0 EW: E{2{2 tH4EE(B0) 22 IMP:| 3 21 8
I I
#1 & AT62 2NS4 180 Mean: 5CXN5 550 8.0 2 [|#2 » KQ932 4HW4 -420 Mean: 6HW-1 50 110 1
v 5CXN5 550 230 5CN5 400 50 3 v A84 4HWS5 -450 -460 4HW4 420 1.0 1
+ KQ96 Dif: -370 NS:-2 3SN4 170 20 1 ¢ 8753 Dif: 30 NS:1 5HW5 450 0.0 1
& AQ832 IMP: -9 EW:-8 3CN5 150 2.0 2 &3 IMP: 1 EW:0 4HW5 450 0.0 7
» K97 # J85 2NS4 180 20 1 ||s » AJ76 4HE5 450 0.0 1
v KQ72 v AJ964 2CN5 150 2.0 2 ||e J9632 I v KQ75 5HXW5 650 -50 2
* 842 ¢ JT53 2CN4 130 -3.0 1 ||e AQ4 * J6 4SXN-3 800 -8.0 1
+ K65 &T 5CN-1 -50 7.0 2 ||» AT876 » Q94
d+VOBN 4,Q43 o ¢ VAN 4 T854
N 5~~32 ¢T853 N~1~1~+T
S 5~~32 ¢A7 S ~1~1~ ¢ KT92
E ~~1~~ &J974 E 4~5~3 &KJ52
W ~~1~~ W 4~5~3
#3 » 9854 3NW3 -600 Mean: 3DXN-2  -300 7.0 1 [|#4 » 853 3HS4 170 Mean: 4HS4 620 4.0 10
v 52 4HW4 -620 -580  1HXS-3 500 2.0 1 v A864 4HS4 620 490  4SXW-1 200 7.0 1
+ KT9764 Dif: 20 NS:-1 5CW5 600 1.0 1 ¢ J97 Dif: -450 NS:-8 3HS4 170 8.0 2
IMP: 1 EW:1 4HW4 620 -1.0 1 & AQ6 IMP: -10 EW:-4 2HS4 170 8.0 1
3NW3 600 -1.0 4 ||as AKJ4 & QT92
3NE3 600 -1.0 1 ||e 952 + v3
3NW4 630 -20 4 ||e Q852 * AT64
3NE4 630 -20 1 ||a& 52 » 9873
oo VAN ,76
N 3 ~4~2 v KQJT7
S 3~4~2 ¢K3
E ~2~2~ aKJT4
W ~2~2 ~
#5 4 J8 3NW3 -400 Mean: 3DW6 170 50 1 #6 s J 2HW3 -140 Mean: 5DXN5 550 60 6
v 87642 3NW4 -430 -380 2NW5 210 50 1 v A754 1NN-3 -150 310  5DN5 400 3.0 2
¢ T95 Dif: 30 NS:-1  2NW4 180 50 1 + KQ954 Dif: 10 NS:-10 3HW-2 200 -3.0 1
» Q97 IMP: 1 EW:2 3NW3 400 1.0 1 & A43 IMP: 0 EW:10 4DN5 150 4.0 2
& KT64 a 52 3NW5 460 -20 1 ||a AK76 » T984 3HW-1 100 5.0 1
v AQ v JT95 3NW4 430 -20 8 ||w T9832 — v KQJ6 2HW3 140 100 1
¢ AJ63 + Q872 1SXS-2 500 3.0 1 ||e T6 * A7 1NN-3 150 100 1
& T43 & AKJ a»T7 » Q92
¢ VBN 4, AQI73 o ¢ VAN 4 Q532
N ~~~~~ v K3 N 55~~~
§ ~~~~~ + K4 S 55~~~ ¢J832
E ~6~~6 &8652 E ~~11~ &KJ865
W ~6~~6 W ~~11~
#7 » 83 1SS3 140 Mean: 3NN3 600 9.0 1 ||#38 » Q72 3CW-150 Mean: 3NN3 400 8.0 1
v A985 2SS3 140 180  4HW-3 300 3.0 1 v 9853 3DS3110 50  3DS3 110 20 3
¢ 874 Dif: 0 NS:-1 3HW-2 200 1.0 1 + KQ62 Dif: -60 NS:0 2DS3 110 20 2
& AKT7 IMP: 0 EW:1 3SN3 140 1.0 1 & K9 IMP: -2 EW:-2 1NS1 90 1.0 1
» J96 a 52 2883 140 1.0 3 [|s A8 a T954 3CW-1 50 00 1
v KJT7 + v Q64 2SN3 140 1.0 5 ||e JT2 v KQ6 1NW-1 50 00 1
+ K96 * AQJ2 1SS3 140 1.0 1 |[|e AT7 ¢ 95 3NS-1 50 3.0 1
» 864 S » QJ92 2882 110 20 1 ||& Q7654 » T832 3NN-1 50 3.0 2
% ¢ VAN o, AKQT74 oo VAN 4, KIE3 4HN-2 100 -40 1
N ~~~33 932 N ~3222 v A74 3NS-2 100 40 1
S ~~~33 ¢T53 S ~3222 ¢J843
E ~1~~~ &53 E 2~~~~ aAJ
W ~1~~+~ W 2 ~~~~
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#1: 11 BB 5 (152.5) #2: 13 JEH 51, 73) #3: 10 FF$(130.68)

3 NS: PR5R 4822 (BH0) 4 14 NS: ZBiES] BREZ(BAC) 9 VP:| 7.23 12.77| Total VP: 117.00 Rank:
EW: 5RAE= PREREEAC) -9 EW: BIE#E % (BAO) -4 IMP:| 0 7 4
I I -
#1 & AT62 3CN5 150 Mean: 5CXN5 550 8.0 2 [|#2 » KQ932 4HWS5 -450 Mean: 6HW-1 50 110 1
v 3SN4 170 230 5CN5 400 50 3 v A84 5HWS5 -450 -460 4HW4 420 1.0 1
+ KQ96 Dif: -20 NS:-2 3SN4 170 20 1 ¢ 8753 Dif: 0 NS:0 5HWS5 450 0.0 1
& AQ832 IMP: -1 EW:2 3CN5 150 2.0 2 &3 IMP: 0 EW:0 4HW5 450 0.0 7
» K97 & J85 2NS4 180 20 1 ||s » AJ76 4HE5 450 0.0 1
v KQ72 v AJ964 2CN5 150 2.0 2 ||v J9632 I v KQ75 5HXW5 650 -50 2
* 842 ¢ JT53 2CN4 130 -3.0 1 ||e AQ4 * J6 4SXN-3 800 -8.0 1
+ K65 &T 5CN-1 -50 7.0 2 ||» AT876 » Q94
d+VOBN 4,Q43 o ¢ VAN 4 T854
N 5~~32 ¢T853 N~1~1~+T
S 5~~32 ¢A7 S ~1~1~ ¢ KT92
E ~~1~~ &J974 E 4~5~3 &KJ52
W ~~1~~ W 4~5~3
#3 » 9854 3NW4 -630 Mean: 3DXN-2  -300 7.0 1 [|#4 » 853 4HS4 620 Mean: 4HS4 620 4.0 10
v 52 3NW4 -630 -580  1HXS-3 500 2.0 1 v A864 4HS4 620 490  4SXW-1 200 7.0 1
+ KT9764 Dif: 0 NS:-2 5CW5 600 1.0 1 ¢ J97 Dif: 0 NS:4 3HS4 170 8.0 2
IMP: 0 EW:2 4HW4 620 -1.0 1 & AQ6 IMP: 0 EW:-4 2HS4 170 8.0 1
3NW3 600 -1.0 4 ||as AKJ4 & QT92
3NE3 600 -1.0 1 ||e 952 + v3
3NW4 630 -20 4 ||e Q852 * AT64
3NE4 630 -20 1 ||a& 52 » 9873
oo VAN ,76
N 3 ~4~2 v KQJT7
S 3~4~2 ¢K3
E ~2~2~ aKJT4
W ~2~2 ~
#5 4 J8 1SXS-2 -500 Mean: 3DW6 170 50 1 #6 s J 5DXN5 550 Mean: 5DXN5 550 60 6
v 87642 3NW4 -430 -380 2NW5 210 50 1 v A754 5DXN5 550 310  5DN5 400 3.0 2
¢ T95 Dif: -70 NS:-3 2NW4 180 50 1 + KQ954 Dif: 0 NS:6 3HW-2 200 -3.0 1
» Q97 IMP: -2 EW:2 3NW3 400 1.0 1 & A43 IMP: 0 EW:-6 4DN5 150 4.0 2
& KT64 a 52 3NW5 460 -20 1 ||a AK76 » T984 3HW-1 100 5.0 1
v AQ v JT95 3NW4 430 -20 8 ||w T9832 — v KQJ6 2HW3 140 100 1
¢ AJ63 + Q872 1SXS-2 500 3.0 1 ||e T6 * A7 1NN-3 150 100 1
& T43 & AKJ a»T7 » Q92
¢ VBN 4, AQI73 o ¢ VAN 4 Q532
N ~~~~~ v K3 N55~~~y
§ ~~~~~ + K4 S 55~~~ ¢J832
E ~6~~6 &8652 E ~~11~ &KJ865
W ~6~~6 W ~~11~
#7 » 83 2SN3 140 Mean: 3NN3 600 9.0 1 ||#38 » Q72 2DS3 110 Mean: 3NN3 400 8.0 1
v A985 4HW-3 300 180  4HW-3 300 3.0 1 v 9853 3DS3110 50  3DS3 110 20 3
¢ 874 Dif: -160 NS:-1  3HW-2 200 10 1 + KQ62 Dif: 0 NS:2 2DS3 10 20 2
& AKT7 IMP: -4 EW:-3 3SN3 140 1.0 1 & K9 IMP: 0 EW:-2 1NS1 90 1.0 1
» J96 a 52 28S3 140 1.0 3 [|s A8 a T954 3CW-1 50 00 1
v KJT7 + v Q64 2SN3 140 1.0 5 ||e JT2 v KQ6 1NW-1 50 00 1
+ K96 * AQJ2 1883 140 1.0 1 |[|e AT7 ¢ 95 3NS-1 50 3.0 1
& 864 » QJ92 28S2 110 20 1 [|& Q7654 » T832 3NN-1 50 3.0 2
o O¢VAN o AKQT74 oo VAN 4, KIE3 4HN-2 100 -40 1
N ~~~33 ¢32 N ~3222 v A74 3NS-2 100 40 1
S ~~~33 ¢T53 S ~3222 ¢J843
E ~1~~~ &53 E 2~~~~ aAJ
W ~1~~+~ W 2 ~~~~
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#1: 11 BB 5 (152.5) #2: 13 JEH 51, 73) #3: 10 FF$(130.68)

4 NS: Z5#75% BE&REIC) 0 2 NS: ZE#ESP SEHF(FIO) -24 VP:| 16.00 : 4.00 | Total VP: 93.20 Rank:
EW: E1{#{& SHEEEI0) 22 EW: Ep & SE&A(BAC) 0 IMP:| 21 3 12
I I
#1 & AT62 2NS4 -180 Mean: 5CXN5 550 8.0 2 [|#2 » KQ932 4HW4 420 Mean: 6HW-1 50 110 1
v 5CXN5 -550 230 5CN5 400 50 3 v A84 4HWS5 450 -460 4HW4 420 1.0 1
+ KQ96 Dif: 370 NS:8 3SN4 170 20 1 ¢ 8753 Dif: -30 NS:0 5HW5 450 0.0 1
& AQ832 IMP: 9 EW:2 3CN5 150 2.0 2 &3 IMP: -1 EW:-1 4HW5 450 0.0 7
» K97 # J85 2NS4 180 20 1 ||s » AJ76 4HE5 450 0.0 1
v KQ72 v AJ964 2CN5 150 2.0 2 ||e J9632 I v KQ75 5HXW5 650 -50 2
* 842 ¢ JT53 2CN4 130 -3.0 1 ||e AQ4 + J6 4SXN-3 800 -8.0 1
+ K65 &T 5CN-1 -50 7.0 2 ||» AT876 » Q94
d+VOBN 4,Q43 o ¢ VAN 4 T854
N 5~~32 ¢T853 N~1~1~+T
S 5~~32 ¢A7 S ~1~1~ ¢ KT92
E ~~1~~ &J974 E 4~5~3 &KJ52
W ~~1~~ W 4~5~3
#3 » 9854 3NW3 600 Mean: 3DXN-2 300 7.0 1 ||#4 » 853 3HS4 -170 Mean: 4HS4 620 4.0 10
v 52 4HW4 620 -580  1HXS-3 500 2.0 1 v A864 4HS4 -620 490  4SXW-1 200 7.0 1
+ KT9764 Dif: 20 NS:-1 5CW5 600 1.0 1 ¢ J97 Dif: 450 NS:4 3HS4 170 8.0 2
IMP: -1 EW:1 4HW4 620 1.0 1 & AQ6 IMP: 10 EW:8 2HS4 170 8.0 1
3NW3 600 -1.0 4 ||as AKJ4 & QT92
3NE3 600 -1.0 1 ||e 952 + v3
3NW4 630 -20 4 ||e Q852 ¢ AT64
3NE4 630 -20 1 ||a& 52 » 9873
oo VAN ,76
N 3 ~4~2 v KQJT7
S 3~4~2 ¢K3
E ~2~2~ aKJT4
W ~2~2 ~
#5 4 J8 3NW3 400 Mean: 3DW6 170 50 1 #6 s J 2HW3 140 Mean: 5DXN5 550 60 6
v 87642 3NW4 430 -380 2NW5 210 50 1 v A754 1NN-3 150 310  5DN5 400 3.0 2
¢ T95 Dif: -30 NS:-2 2NwW4 180 50 1 + KQ954 Dif: 10 NS:-10 3HW-2 200 3.0 1
» Q97 IMP: -1 EW:1  3NW3 400 1.0 1 & A43 IMP: 0 EW:10 4DN5 150 4.0 2
& KT64 a 52 3NW5 460 -20 1 ||a AK76 » T984 3HW-1 100 5.0 1
v AQ v JT95 3NW4 430 -20 8 ||w T9832 — v KQJ6 2HW3 140 100 1
¢ AJ63 + Q872 1SXS-2 500 3.0 1 ||e T6 * A7 1NN-3 150 100 1
& T43 & AKJ a»T7 » Q92
¢ VBN 4, AQI73 o ¢ VAN 4 Q532
N ~~~~~ v K3 N 55~~~
§ ~~~~~ + K4 S 55~~~ ¢J832
E ~6~~6 &8652 E ~~11~ &KJ865
W ~6~~6 W ~~11~
#7 » 83 1SS3 -140 Mean: 3NN3 600 9.0 1 ||#38 » Q72 3CW-1-50 Mean: 3NN3 400 8.0 1
v A985 2SS3 -140 180  4HW-3 300 3.0 1 v 9853 3DS3-110 50  3DS3 110 20 3
¢ 874 Dif: 0 NS:-1  3HW-2 200 1.0 1 + KQ62 Dif: 60 NS:2 2DS3 110 20 2
& AKT7 IMP: 0 EW:1 3SN3 140 1.0 1 & K9 IMP: 2 EW:0 1NS1 90 1.0 1
» J96 a 52 2883 140 1.0 3 [|s A8 » T954 3CW-1 50 00 1
v KJT7 + v Q64 2SN3 140 1.0 5 ||e JT2 v KQ6 1NW-1 50 00 1
+ K96 * AQJ2 1SS3 140 1.0 1 |[|e AT7 ¢ 95 3NS-1 50 3.0 1
» 864 S » QJ92 2882 110 20 1 ||& Q7654 » T832 3NN-1 50 3.0 2
% ¢ VAN o, AKQT74 oo VAN 4, KIE3 4HN-2 100 -40 1
N ~~~33 932 N ~3222 v A74 3NS-2 100 40 1
S ~~~33 ¢T53 S ~3222 ¢J843
E ~1~~~ &53 E 2~~~~ aAJ
W ~1~~+~ W 2 ~~~~
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#1: 11 BB 5 (152.5) #2: 13 JEH 51, 73) #3: 10 FF$(130.68)

5 NS: 12 &1k FEEIRGEI0) 23 10 NS: 23,{Z REE(EC) 10 VP:| 13.45 : 6.55 | Total VP: 95.47 Rank:
EW: BEEE =EHAEAC) -10 EW: 5534 BRiELAH(BRO) -2 IMP:| 16 7 1
I I
#1 & AT62 5CXN5 550 Mean: 5CXN5 550 8.0 2 [|#2 » KQ932 6HW-1 50 Mean: 6HW-1 50 110 1
v 5CN5 400 230 5CN5 400 50 3 v A84 5HXWS5 -650 -460 4HW4 420 1.0 1
+ KQ96 Dif: 150 NS:8 3SN4 170 20 1 ¢ 8753 Dif: 700 NS:11  5HW5 450 0.0 1
& AQ832 IMP: 4 EW:-5 3CN5 150 2.0 2 &3 IMP: 12 EW:5 4HW5 450 0.0 7
» K97 # J85 2NS4 180 20 1 ||s » AJ76 4HE5 450 0.0 1
v KQ72 v AJ964 2CN5 150 2.0 2 ||e J9632 I v KQ75 5HXW5 650 -50 2
* 842 ¢ JT53 2CN4 130 -3.0 1 ||e AQ4 * J6 4SXN-3 800 -8.0 1
+ K65 &T 5CN-1 -50 7.0 2 ||» AT876 » Q94
d+VOBN 4,Q43 o ¢ VAN 4 T854
N 5~~32 ¢T853 N~1~1~+T
S 5~~32 ¢A7 S ~1~1~ ¢ KT92
E ~~1~~ &J974 E 4~5~3 &KJ52
W ~~1~~ W 4~5~3
#3 » 9854 3NW4 -630 Mean: 3DXN-2  -300 7.0 1 [|#4 » 853 4HS4 620 Mean: 4HS4 620 4.0 10
v 52 3NE3 -600 -580  1HXS-3 500 2.0 1 v A864 4HS4 620 490  4SXW-1 200 7.0 1
+ KT9764 Dif: -30 NS:-2 5CW5 600 1.0 1 ¢ J97 Dif: 0 NS:4 3HS4 170 8.0 2
IMP: -1 EW:1 4HW4 620 1.0 1 & AQ6 IMP: 0 EW:-4 2HS4 170 8.0 1
3NW3 600 -1.0 4 ||as AKJ4 & QT92
3NE3 600 -1.0 1 ||e 952 + v3
3NW4 630 -20 4 ||e Q852 * AT64
3NE4 630 -20 1 ||a& 52 » 9873
oo VAN ,76
N 3 ~4~2 v KQJT7
S 3~4~2 ¢K3
E ~2~2~ aKJT4
W ~2~2 ~
#5 4 J8 3NW4 -430 Mean: 3DW6 170 50 1 #6 s J 5DN5 400 Mean: 5DXN5 550 60 6
v 87642 3NW4 -430 -380 2NW5 210 50 1 v A754 5DXN5 550 310  5DN5 400 3.0 2
¢ T95 Dif: 0 NS:-2 2Nw4 180 50 1 + KQ954 Dif: 150 NS:3 3HW-2 200 -3.0 1
» Q97 IMP: 0 EW:2 3NW3 400 1.0 1 & A43 IMP: -4 EW:-6 4DN5 150 4.0 2
& KT64 a 52 3NW5 460 -20 1 ||a AK76 » T984 3HW-1 100 5.0 1
v AQ v JT95 3NW4 430 -20 8 ||w T9832 — v KQJ6 2HW3 140 100 1
¢ AJ63 + Q872 1SXS-2 500 3.0 1 ||e T6 * A7 1NN-3 150 100 1
& T43 & AKJ a»T7 » Q92
¢ VBN 4, AQI73 o ¢ VAN 4 Q532
N ~~~~~ v K3 N 55~~~
§ ~~~~~ + K4 S 55~~~ ¢J832
E ~6~~6 &8652 E ~~11~ &KJ865
W ~6~~6 W ~~11~
#7 » 83 2SN3 140 Mean: 3NN3 600 9.0 1 ||#38 » Q72 2DS3 110 Mean: 3NN3 400 8.0 1
v A985 3HW-2200 180  4HW-3 300 3.0 1 v 9853 3DS3110 50  3DS3 110 20 3
¢ 874 Dif: -60 NS:-1  3HW-2 200 1.0 1 + KQ62 Dif: 0 NS:2 2DS3 110 20 2
& AKT7 IMP: -2 EW:-1 3SN3 140 1.0 1 & K9 IMP: 0 EW:-2 1NS1 90 1.0 1
» J96 a 52 2883 140 1.0 3 [|s A8 a T954 3CW-1 50 00 1
v KJT7 + v Q64 2SN3 140 1.0 5 ||e JT2 v KQ6 1NW-1 50 00 1
+ K96 * AQJ2 1SS3 140 1.0 1 |[|e AT7 ¢ 95 3NS-1 50 3.0 1
» 864 S » QJ92 2882 110 20 1 ||& Q7654 » T832 3NN-1 50 3.0 2
% ¢ VAN o, AKQT74 oo VAN 4, KIE3 4HN-2 100 -40 1
N ~~~33 932 N ~3222 v A74 3NS-2 100 40 1
S ~~~33 ¢T53 S ~3222 ¢J843
E ~1~~~ &53 E 2~~~~ aAJ
W ~1~~+~ W 2 ~~~~
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#1: 11 BB 5 (152.5) #2: 13 JEH 51, 73) #3: 10 FF$(130.68)

6 NS: SHEHH BRIEHT(BHO) 2 8 NS: HBEE £RABAC) 5 VP:| 7.95 12.05| Total VP: 86.59 Rank:
EW: BEESZ FENFEEAC) -5 EW: #iliE FRIE£E(BRO) -2 IMP:| 12 17 13
I I -
#1 & AT62 5CN-1-50 Mean: 5CXN5 550 8.0 2 [|#2 » KQ932 4HWS5 -450 Mean: 6HW-1 50 110 1
v 2CN4 130 230 5CN5 400 50 3 v A84 4HWS5 -450 -460  4HW4 420 1.0 1
+ KQ96 Dif: -180 NS:-7 3SN4 170 20 1 ¢ 8753 Dif: 0 NS:0 5HWS5 450 0.0 1
& AQ832 IMP: -5 EW:3 3CN5 150 2.0 2 &3 IMP: 0 EW:0 4HW5 450 0.0 7
» K97 & J85 2NS4 180 20 1 ||s » AJ76 4HE5 450 0.0 1
v KQ72 v AJ964 2CN5 150 2.0 2 ||v J9632 I v KQ75 5HXW5 650 -50 2
* 842 ¢ JT53 2CN4 130 -3.0 1 ||e AQ4 * J6 4SXN-3 800 -8.0 1
+ K65 &T 5CN-1 -50 7.0 2 ||» AT876 » Q94
d+VOBN 4,Q43 o ¢ VAN 4 T854
N 5~~32 ¢T853 N~1~1~+T
S 5~~32 ¢A7 S ~1~1~ ¢ KT92
E ~~1~~ &J974 E 4~5~3 &KJ52
W ~~1~~ W 4~5~3
#3 » 9854 5CW5 -600 Mean: 3DXN-2  -300 7.0 1 [|#4 » 853 4HS4 620 Mean: 4HS4 620 4.0 10
v 52 3NE4 -630 -580  1HXS-3 500 2.0 1 v A864 4HS4 620 490  4SXW-1 200 7.0 1
+ KT9764 Dif: 30 NS:-1 5CW5 600 1.0 1 ¢ J97 Dif: 0 NS:4 3HS4 170 8.0 2
IMP: 1 EW:2 4HW4 620 -1.0 1 & AQ6 IMP: 0 EW:-4 2HS4 170 8.0 1
3NW3 600 -1.0 4 ||as AKJ4 & QT92
3NE3 600 -1.0 1 ||e 952 + v3
3NW4 630 -20 4 ||e Q852 * AT64
3NE4 630 -20 1 ||a& 52 » 9873
oo VAN ,76
N 3 ~4~2 v KQJT7
S 3~4~2 ¢K3
E ~2~2~ aKJT4
W ~2~2 ~
#5 4 J8 3DW6 -170 Mean: 3DW6 170 50 1 #6 s J 3HW-1 100 Mean: 5DXN5 550 60 6
v 87642 2NW4 -180 -380  2NW5 210 50 1 v A754 4DN5 150 310 5DN5 400 3.0 2
¢ T95 Dif: 10 NS:5 2NwW4 180 50 1 + KQ954 Dif: -50 NS:-5 3HW-2 200 -3.0 1
» Q97 IMP: 0 EW:-5 3NW3 400 1.0 1 & A43 IMP: -2 EW:4 4DN5 150 4.0 2
& KT64 a 52 3NW5 460 -20 1 ||a AK76 » T984 3HW-1 100 5.0 1
v AQ v JT95 3NW4 430 -20 8 ||w T9832 — v KQJ6 2HW3 140 100 1
¢ AJ63 + Q872 1SXS-2 500 3.0 1 ||e T6 * A7 1NN-3 150 100 1
& T43 & AKJ a»T7 » Q92
¢ VBN 4, AQI73 o ¢ VAN 4 Q532
N ~~~~~ v K3 N 55~~~
§ ~~~~~ + K4 S 55~~~ ¢J832
E ~6~~6 &8652 E ~~11~ &KJ865
W ~6~~6 W ~~11~
#7 » 83 2SS2 110 Mean: 3NN3 600 9.0 1 ||#38 » Q72 3NN3 400 Mean: 3NN3 400 8.0 1
v A985 3NN3 600 180  4HW-3 300 3.0 1 v 9853 4HN-2 -100 50  3DS3 110 20 3
¢ 874 Dif: -490 NS:-2 3HW-2 200 10 1 + KQ62 Dif: 500 NS:8 2DS3 10 20 2
& AKT7 IMP: -10 EW:-9 3SN3 140 1.0 1 & K9 IMP: 11 EW:4 1NS1 90 1.0 1
» J96 a 52 28S3 140 1.0 3 [|s A8 a T954 3CW-1 50 00 1
v KJT7 + v Q64 2SN3 140 1.0 5 ||e JT2 v KQ6 1NW-1 50 00 1
+ K96 * AQJ2 1883 140 1.0 1 |[|e AT7 ¢ 95 3NS-1 50 3.0 1
& 864 » QJ92 28S2 110 20 1 [|& Q7654 » T832 3NN-1 50 3.0 2
o O¢VAN o AKQT74 oo VAN 4, KIE3 4HN-2 100 -40 1
N ~~~33 ¢32 N ~3222 v A74 3NS-2 100 40 1
S ~~~33 ¢T53 S ~3222 ¢J843
E ~1~~~ &53 E 2~~~~ aAJ
W ~1~~+~ W 2 ~~~~




11

112 F< 4 >2FMpERF R

2 ==> Rl1l

11

#1: 11 BB 5 (152.5) #2: 13 JEH 51, 73) #3: 10 FF$(130.68)

7 NS: BE&SSH = (5H0) 4 9 NS: B#ER £EH(FC) -5 VP:| 11.27 : 8.73 | Total VP: 102.95 Rank:
EW: BRHEE SEREAC) 5 EW: 8|72 R#<F(BA0) 4 IMP:| 16 13 10
I I -
#1 & AT62 3CN5 150 Mean: 5CXN5 550 8.0 2 [|#2 » KQ932 4HWS5 -450 Mean: 6HW-1 50 110 1
v 5CN-1-50 230 5CN5 400 50 3 v A84 4HES5 -450 -460  4HW4 420 1.0 1
+ KQ96 Dif: 200 NS:-2 3SN4 170 20 1 ¢ 8753 Dif: 0 NS:0 5HWS5 450 0.0 1
& AQ832 IMP: 5 EW:7 3CN5 150 2.0 2 &3 IMP: 0 EW:0 4HW5 450 0.0 7
» K97 # J85 2NS4 180 20 1 ||s » AJ76 4HE5 450 0.0 1
v KQ72 v AJ964 2CN5 150 2.0 2 ||e J9632 I v KQ75 5HXW5 650 -50 2
* 842 ¢ JT53 2CN4 130 -3.0 1 ||e AQ4 * J6 4SXN-3 800 -8.0 1
+ K65 &T 5CN-1 -50 7.0 2 ||» AT876 » Q94
d+VOBN 4,Q43 o ¢ VAN 4 T854
N 5~~32 ¢T853 N~1~1~+T
S 5~~32 ¢A7 S ~1~1~ ¢ KT92
E ~~1~~ &J974 E 4~5~3 &KJ52
W ~~1~~ W 4~5~3
#3 » 9854 3NW3 -600 Mean: 3DXN-2 -300 7.0 1 [|#4 » 853 2HS4 170 Mean: 4HS4 620 4.0 10
v 52 3NW4 -630 -580  1HXS-3 500 2.0 1 v A864 4HS4 620 490  4SXW-1 200 7.0 1
+ KT9764 Dif: 30 NS:-1 5CW5 600 1.0 1 ¢ J97 Dif: -450 NS:-8 3HS4 170 8.0 2
IMP: 1 EW:2 4HW4 620 -1.0 1 & AQ6 IMP: -10 EW:-4 2HS4 170 8.0 1
3NW3 600 -1.0 4 ||as AKJ4 & QT92
3NE3 600 -1.0 1 ||e 952 + v3
3NW4 630 -20 4 ||e Q852 * AT64
3NE4 630 -20 1 ||a& 52 » 9873
oo VAN ,76
N 3 ~4~2 v KQJT7
S 3~4~2 ¢K3
E ~2~2~ aKJT4
W ~2~2 ~
#5 4 J8 2NWS5 -210 Mean: 3DW6 170 50 1 #6 s J 5DXN5 550 Mean: 5DXN5 550 60 6
v 87642 3NW4 -430 -380 2NW5 210 50 1 v A754 5DN5 400 310  5DN5 400 3.0 2
¢ T95 Dif: 220 NS:5 2NW4 180 50 1 + KQ954 Dif: 150 NS:6 3HW-2 200 -3.0 1
» Q97 IMP: 6 EW:2 3NW3 400 1.0 1 & A43 IMP: 4 EW:-3 4DN5 150 4.0 2
& KT64 a 52 3NW5 460 -20 1 ||a AK76 » T984 3HW-1 100 5.0 1
v AQ v JT95 3NW4 430 -20 8 ||w T9832 — v KQJ6 2HW3 140 100 1
¢ AJ63 + Q872 1SXS-2 500 3.0 1 ||e T6 * A7 1NN-3 150 100 1
& T43 & AKJ a»T7 » Q92
¢ VBN 4, AQI73 o ¢ VAN 4 Q532
N ~~~~~ v K3 N 55~~~
§ ~~~~~ + K4 S 55~~~ ¢J832
E ~6~~6 &8652 E ~~11~ &KJ865
W ~6~~6 W ~~11~
#7 » 83 2SS3 140 Mean: 3NN3 600 9.0 1 ||#38 » Q72 3NN-1-50 Mean: 3NN3 400 8.0 1
v A985 2SS3 140 180  4HW-3 300 3.0 1 v 9853 1NW-150 50  3DS3 110 20 3
¢ 874 Dif: 0 NS:-1 3HW-2 200 1.0 1 + KQ62 Dif: -100 NsS:-3 2DS3 110 20 2
& AKT7 IMP: 0 EW:1 3SN3 140 1.0 1 & K9 IMP: -3 EW:0 1NS1 90 1.0 1
» J96 a 52 2883 140 1.0 3 [|s A8 a T954 3CW-1 50 00 1
v KJT7 + v Q64 2SN3 140 1.0 5 ||e JT2 v KQ6 1NW-1 50 00 1
+ K96 * AQJ2 1SS3 140 1.0 1 |[|e AT7 ¢ 95 3NS-1 50 3.0 1
» 864 S » QJ92 2882 110 20 1 ||& Q7654 » T832 3NN-1 50 3.0 2
% ¢ VAN o, AKQT74 oo VAN 4, KIE3 4HN-2 100 -40 1
N ~~~33 932 N ~3222 v A74 3NS-2 100 40 1
S ~~~33 ¢T53 S ~3222 ¢J843
E ~1~~~ &53 E 2~~~~ aAJ
W ~1~~+~ W 2 ~~~~
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#1: 11 BB 5 (152.5) #2: 13 JEH 51, 73) #3: 10 FF$(130.68)

8 NS: 5 & HRAREC) 5 6 NS: #EIER BREF(FIO) 2 VP:| 12.05 : 7.95 | Total VP: 112.47 Rank:
EW: i3l BRIE£(EO) -2 EW: RX B3I (EIC) -5 IMP:| 17 12 5
I I -
#1 & AT62 5CN-1 50 Mean: 5CXN5 550 8.0 2 [|#2 » KQ932 4HWS5 450 Mean: 6HW-1 50 110 1
v 2CN4 -130 230 5CN5 400 50 3 v A84 4HW5 450 -460  4HW4 420 1.0 1
+ KQ96 Dif: 180 NS:-3 3SN4 170 20 1 ¢ 8753 Dif: 0 NS:0 5HWS5 450 0.0 1
& AQ832 IMP: 5 EW:7 3CN5 150 2.0 2 &3 IMP: 0 EW:0 4HW5 450 0.0 7
» K97 # J85 2NS4 180 20 1 ||s » AJ76 4HE5 450 0.0 1
v KQ72 v AJ964 2CN5 150 2.0 2 ||e J9632 I v KQ75 5HXW5 650 -50 2
¢ 842 ¢ JT53 2CN4 130 -3.0 1 ||e AQ4 + J6 4SXN-3 800 -8.0 1
+ K65 &T 5CN-1 -50 7.0 2 ||» AT876 » Q94
d+VOBN 4,Q43 o ¢ VAN 4 T854
N 5~~32 ¢T853 N~1~1~+T
S 5~~32 ¢A7 S ~1~1~ ¢ KT92
E ~~1~~ &J974 E 4~5~3 &KJ52
W ~~1~~ W 4~5~3
#3 » 9854 5CW5 600 Mean: 3DXN-2 300 7.0 1 ||#4 » 853 4HS4 -620 Mean: 4HS4 620 4.0 10
v 52 3NE4 630 -580  1HXS-3 500 2.0 1 v A864 4HS4 -620 490  4SXW-1 200 7.0 1
+ KT9764 Dif: -30 NS:-2 5CW5 600 1.0 1 ¢ J97 Dif: 0 NS:4 3HS4 170 8.0 2
IMP: -1 EW:1 4HW4 620 1.0 1 & AQ6 IMP: 0 EW:-4 2HS4 170 8.0 1
3NW3 600 -1.0 4 ||as AKJ4 & QT92
3NE3 600 -1.0 1 ||e 952 + v3
3NW4 630 -20 4 ||e Q852 ¢ AT64
3NE4 630 -20 1 ||a& 52 » 9873
oo VAN ,76
N 3 ~4~2 v KQJT7
S 3~4~2 ¢K3
E ~2~2~ aKJT4
W ~2~2 ~
#5 4 J8 3DW6 170 Mean: 3DW6 170 50 1 #6 s J 3HW-1 -100 Mean: 5DXN5 550 60 6
v 87642 2NW4 180 -380 2NW5 210 50 1 v A754 4DN5 -150 310  5DN5 400 3.0 2
¢ T95 Dif: 10 NS:5 2NwW4 180 50 1 + KQ954 Dif: 50 NS:-4 3HW-2 200 -3.0 1
» Q97 IMP: 0 EW:-5 3NW3 400 1.0 1 & A43 IMP: 2 EW:5 4DN5 150 4.0 2
& KT64 a 52 3NW5 460 -20 1 ||a AK76 » T984 3HW-1 100 5.0 1
v AQ v JT95 3NW4 430 -20 8 ||w T9832 — v KQJ6 2HW3 140 100 1
+ AJ63 + Q872 1SXS-2 500 3.0 1 ||e T6 * A7 1NN-3 150 100 1
& T43 & AKJ a»T7 » Q92
¢ VBN 4, AQI73 o ¢ VAN 4 Q532
N ~~~~~ v K3 N 55~~~
S ~~~~~ + K4 S 55~~~ ¢J832
E ~6~~6 &8652 E ~~11~ &KJ865
W ~6~~6 W ~~11~
#7 » 83 2SS2 -110 Mean: 3NN3 600 9.0 1 ||#38 » Q72 3NN3 -400 Mean: 3NN3 400 8.0 1
v A985 3NN3 -600 180  4HW-3 300 3.0 1 v 9853 4HN-2100 50  3DS3 110 20 3
¢ 874 Dif: 490 NS:9 3HW-2 200 1.0 1 + KQ62 Dif: -500 NS:-4 2DS3 110 20 2
& AKT7 IMP: 10 EW:2 3SN3 140 1.0 1 & K9 IMP: -11 EW:-8 1NS1 90 1.0 1
» J96 a 52 2883 140 1.0 3 [|s A8 » T954 3CW-1 50 00 1
v KJT7 + v Q64 2SN3 140 1.0 5 ||e JT2 v KQ6 1NW-1 50 00 1
+ K96 * AQJ2 1SS3 140 1.0 1 |[|e AT7 ¢ 95 3NS-1 50 3.0 1
» 864 S » QJ92 2882 110 20 1 ||& Q7654 » T832 3NN-1 50 3.0 2
% ¢ VAN o, AKQT74 oo VAN 4, KIE3 4HN-2 100 -40 1
N ~~~33 932 N ~3222 v A74 3NS-2 100 40 1
S ~~~33 ¢T53 S ~3222 ¢J843
E ~1~~~ &53 E 2~~~~ aAJ
W ~1~~+~ W 2 ~~~~
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#1: 11 BB 5 (152.5) #2: 13 JEH 51, 73) #3: 10 FF$(130.68)

9 NS: B 5 225 5 EAC) -5 7 NS: BREEE =i2{_(BHO) -4 VP:| 8.73 11.27 | Total VP: 67.39 Rank:
EW: 872 BEESFEE0) 4 EW: GRS RIER(BAC) 5 IMP:| 13 16 14
I I -
#1 & AT62 3CN5 -150 Mean: 5CXN5 550 8.0 2 [|#2 » KQ932 4HWS5 450 Mean: 6HW-1 50 110 1
v 5CN-150 230 5CN5 400 50 3 v A84 4HES5 450 -460 4HW4 420 1.0 1
+ KQ96 Dif: -200 NS:-7 3SN4 170 20 1 ¢ 8753 Dif: 0 NS:0 5HWS5 450 0.0 1
& AQ832 IMP: -5 EW:2 3CN5 150 2.0 2 &3 IMP: 0 EW:0 4HW5 450 0.0 7
» K97 # J85 2NS4 180 20 1 ||s » AJ76 4HE5 450 0.0 1
v KQ72 v AJ964 2CN5 150 2.0 2 ||v J9632 I v KQ75 5HXW5 650 -50 2
* 842 ¢ JT53 2CN4 130 -3.0 1 ||e AQ4 * J6 4SXN-3 800 -8.0 1
+ K65 &T 5CN-1 -50 7.0 2 ||» AT876 » Q94
d+VOBN 4,Q43 o ¢ VAN 4 T854
N 5~~32 ¢T853 N~1~1~+T
S 5~~32 ¢A7 S ~1~1~ ¢ KT92
E ~~1~~ &J974 E 4~5~3 &KJ52
W ~~1~~ W 4~5~3
#3 » 9854 3NW3 600 Mean: 3DXN-2 300 7.0 1 ||#4 » 853 2HS4 -170 Mean: 4HS4 620 4.0 10
v 52 3NW4 630 -580 1HXS-3 500 2.0 1 v A864 4HS4 -620 490  4SXW-1 200 7.0 1
+ KT9764 Dif: -30 NS:-2 5CW5 600 1.0 1 ¢ J97 Dif: 450 NS:4 3HS4 170 8.0 2
IMP: -1 EW:1 4HW4 620 1.0 1 & AQ6 IMP: 10 EW:8 2HS4 170 8.0 1
3NW3 600 -1.0 4 ||as AKJ4 & QT92
3NE3 600 -1.0 1 ||e 952 + v3
3NW4 630 -20 4 ||e Q852 * AT64
3NE4 630 -20 1 ||a& 52 » 9873
oo VAN ,76
N 3 ~4~2 v KQJT7
S 3~4~2 ¢K3
E ~2~2~ aKJT4
W ~2~2 ~
#5 4 J8 2NW5 210 Mean: 3DW6 170 50 1 #6 s J 5DXN5 -550 Mean: 5DXN5 550 60 6
v 87642 3NW4 430 -380 2NW5 210 50 1 v A754 5DN5 -400 310  5DN5 400 3.0 2
¢ T95 Dif: -220 NS:-2 2NW4 180 50 1 + KQ954 Dif: 150 NS:3 3HW-2 200 -3.0 1
» Q97 IMP: -6 EW:-5 3NW3 400 1.0 1 & A43 IMP: -4 EW:-6 4DN5 150 4.0 2
& KT64 a 52 3NW5 460 -20 1 ||a AK76 » T984 3HW-1 100 5.0 1
v AQ v JT95 3NW4 430 -20 8 ||w T9832 — v KQJ6 2HW3 140 100 1
¢ AJ63 + Q872 1SXS-2 500 3.0 1 ||e T6 * A7 1NN-3 150 100 1
& T43 & AKJ a»T7 » Q92
¢ VBN 4, AQI73 o ¢ VAN 4 Q532
N ~~~~~ v K3 N55~~~y
§ ~~~~~ + K4 S 55~~~ ¢J832
E ~6~~6 &8652 E ~~11~ & KJ865
W ~6~~6 W ~~11~
#7 » 83 2SS3 -140 Mean: 3NN3 600 9.0 1 ||#38 » Q72 3NN-1 50 Mean: 3NN3 400 8.0 1
v A985 2SS3 -140 180  4HW-3 300 3.0 1 v 9853 1NW-1-50 50  3DS3 110 20 3
¢ 874 Dif: 0 NS:-1 3HW-2 200 1.0 1 + KQ62 Dif: 100 NS:0 2DS3 110 20 2
& AKT7 IMP: 0 EW:1 3SN3 140 1.0 1 & K9 IMP: 3 EW:3 1NS1 90 1.0 1
» J96 a 52 2883 140 1.0 3 [|s A8 a T954 3CW-1 50 00 1
v KJT7 + v Q64 2SN3 140 1.0 5 ||e JT2 v KQ6 1NW-1 50 00 1
+ K96 * AQJ2 1SS3 140 1.0 1 |[|e AT7 ¢ 95 3NS-1 50 3.0 1
» 864 S » QJ92 2882 110 20 1 ||& Q7654 » T832 3NN-1 50 3.0 2
% ¢ VAN o, AKQT74 oo VAN 4, KIE3 4HN-2 100 -40 1
N ~~~33 932 N ~3222 v A74 3NS-2 100 40 1
S ~~~33 ¢T53 S ~3222 ¢J843
E ~1~~~ &53 E 2~~~~ aAJ
W ~1~~+~ W 2 ~~~~
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#1: 11 BB 5 (152.5) #2: 13 JEH 51, 73) #3: 10 FF$(130.68)

1 O NS: RiAM= BEZEEAC) 10 5 NS: 212 EEE(F0) 23 VP:| 6.55 13.45| Total VP: 130.68 Rank:
EW: =885 BEAFABEO) -23 EW: [REE St (BAC) 1 IMP:| 7 16 3
I I
#1 & AT62 5CXN5 -550 Mean: 5CXN5 550 8.0 2 [|#2 » KQ932 6HW-1-50 Mean: 6HW-1 50 110 1
v 5CN5 -400 230 5CN5 400 50 3 v A84 5HXW5 650 -460 4HW4 420 1.0 1
+ KQ96 Dif: -150 NS:5 3SN4 170 20 1 ¢ 8753 Dif: -700 NS:-5 5HW5 450 0.0 1
& AQ832 IMP: -4 EW:-8 3CN5 150 2.0 2 &3 IMP: -12 EW:-11 4HW5 450 0.0 7
» K97 # J85 2NS4 180 20 1 ||s » AJ76 4HE5 450 0.0 1
v KQ72 v AJ964 2CN5 150 2.0 2 ||v J9632 I v KQ75 5HXW5 650 -50 2
* 842 ¢ JT53 2CN4 130 -3.0 1 ||e AQ4 * J6 4SXN-3 800 -8.0 1
+ K65 &T 5CN-1 -50 7.0 2 ||» AT876 » Q94
d+VOBN 4,Q43 o ¢ VAN 4 T854
N 5~~32 ¢T853 N~1~1~+T
S 5~~32 ¢A7 S ~1~1~ ¢ KT92
E ~~1~~ &J974 E 4~5~3 &KJ52
W ~~1~~ W 4~5~3
#3 » 9854 3NW4 630 Mean: 3DXN-2 300 7.0 1 ||#4 » 853 4HS4 -620 Mean: 4HS4 620 4.0 10
v 52 3NE3 600 -580  1HXS-3 500 2.0 1 v A864 4HS4 -620 490  4SXW-1 200 7.0 1
+ KT9764 Dif: 30 NS:-1 5CW5 600 1.0 1 ¢ J97 Dif: 0 NS:4 3HS4 170 8.0 2
IMP: 1 EW:2 4HW4 620 1.0 1 & AQ6 IMP: 0 EW:-4 2HS4 170 8.0 1
3NW3 600 -1.0 4 ||as AKJ4 & QT92
3NE3 600 -1.0 1 ||e 952 + v3
3NW4 630 -20 4 ||e Q852 * AT64
3NE4 630 -20 1 ||a& 52 » 9873
oo VAN ,76
N 3 ~4~2 v KQJT7
S 3~4~2 ¢K3
E ~2~2~ aKJT4
W ~2~2 ~
#5 4 J8 3NW4 430 Mean: 3DW6 170 50 1 #6 s J 5DN5 -400 Mean: 5DXN5 550 60 6
v 87642 3NW4 430 -380 2NW5 210 50 1 v A754 5DXN5 -550 310  5DN5 400 3.0 2
¢ T95 Dif: 0 NS:-2 2Nw4 180 50 1 + KQ954 Dif: 150 NS:6 3HW-2 200 -3.0 1
» Q97 IMP: 0 EW:2 3NW3 400 1.0 1 & A43 IMP: 4 EW:-3 4DN5 150 4.0 2
& KT64 a 52 3NW5 460 -20 1 ||a AK76 » T984 3HW-1 100 5.0 1
v AQ v JT95 3NW4 430 -20 8 ||w T9832 — v KQJ6 2HW3 140 100 1
¢ AJ63 + Q872 1SXS-2 500 3.0 1 ||e T6 * A7 1NN-3 150 100 1
& T43 & AKJ a»T7 » Q92
¢ VBN 4, AQI73 o ¢ VAN 4 Q532
N ~~~~~ v K3 N 55~~~
§ ~~~~~ + K4 S 55~~~ ¢J832
E ~6~~6 &8652 E ~~11~ &KJ865
W ~6~~6 W ~~11~
#7 » 83 2SN3 -140 Mean: 3NN3 600 9.0 1 ||#38 » Q72 2DS3 -110 Mean: 3NN3 400 8.0 1
v A985 3HW-2 -200 180  4HW-3 300 3.0 1 v 9853 3DS3-110 50  3DS3 110 20 3
¢ 874 Dif: 60 NS:1  3HW-2 200 1.0 1 + KQ62 Dif: 0 NS:2 2DS3 110 20 2
& AKT7 IMP: 2 EW:1 3SN3 140 1.0 1 & K9 IMP: 0 EW:-2 1NS1 90 1.0 1
» J96 a 52 2883 140 1.0 3 [|s A8 a T954 3CW-1 50 00 1
v KJT7 + v Q64 2SN3 140 1.0 5 ||e JT2 v KQ6 1NW-1 50 00 1
+ K96 * AQJ2 1SS3 140 1.0 1 |[|e AT7 ¢ 95 3NS-1 50 3.0 1
» 864 S » QJ92 2882 110 20 1 ||& Q7654 » T832 3NN-1 50 3.0 2
% ¢ VAN o, AKQT74 oo VAN 4, KIE3 4HN-2 100 -40 1
N ~~~33 932 N ~3222 v A74 3NS-2 100 40 1
S ~~~33 ¢T53 S ~3222 ¢J843
E ~1~~~ &53 E 2~~~~ aAJ
W ~1~~+~ W 2 ~~~~
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#1: 11 BB 5 (152.5) #2: 13 JEH 51, 73) #3: 10 FF$(130.68)

1 1 NS: BRZEE #EEEH0) -3 13 NS: SE1E =i (BAC) 10 VP:| 12.77 : 7.23 Total VP: 152.50 Rank:
EW: # Tt BEEEEEAC) 10 EW: EEM L/IEBIO) 3 IMP:| 20 13 1
I I -
#1 & AT62 5CN5 400 Mean: 5CXN5 550 8.0 2 [|#2 » KQ932 4HWS5 -450 Mean: 6HW-1 50 110 1
v 2CN5 150 230 5CN5 400 50 3 v A84 5HXWS5 -650 -460 4HW4 420 1.0 1
+ KQ96 Dif: 250 NS:5 3SN4 170 20 1 ¢ 8753 Dif: 200 NS:0 5HW5 450 0.0 1
& AQ832 IMP: 6 EW:2 3CN5 150 2.0 2 &3 IMP: 5 EW:5 4HW5 450 0.0 7
» K97 # J85 2NS4 180 20 1 ||s » AJ76 4HE5 450 0.0 1
v KQ72 v AJ964 2CN5 150 2.0 2 ||v J9632 I v KQ75 5HXW5 650 -50 2
* 842 ¢ JT53 2CN4 130 -3.0 1 ||e AQ4 * J6 4SXN-3 800 -8.0 1
+ K65 &T 5CN-1 -50 7.0 2 ||» AT876 » Q94
d+VOBN 4,Q43 o ¢ VAN 4 T854
N 5~~32 ¢T853 N~1~1~+T
S 5~~32 ¢A7 S ~1~1~ ¢ KT92
E ~~1~~ &J974 E 4~5~3 &KJ52
W ~~1~~ W 4~5~3
#3 » 9854 3NW3 -600 Mean: 3DXN-2 -300 7.0 1 [|#4 » 853 4SXW-1200 Mean: 4HS4 620 4.0 10
v 52 3NW3 -600 -580 1HXS-3 500 2.0 1 v A864 4HS4 620 490  4SXW-1 200 7.0 1
+ KT9764 Dif: 0 NS:-1 5CW5 600 1.0 1 ¢ J97 Dif: -420 NS:-7 3HS4 170 8.0 2
IMP: 0 EW:1 4HW4 620 1.0 1 & AQ6 IMP: -9 EW:-4 2HS4 170 8.0 1
3NW3 600 -1.0 4 ||as AKJ4 & QT92
3NE3 600 -1.0 1 ||e 952 + v3
3NW4 630 -20 4 ||e Q852 * AT64
3NE4 630 -20 1 ||a& 52 » 9873
oo VAN ,76
N 3 ~4~2 v KQJT7
S 3~4~2 ¢K3
E ~2~2~ aKJT4
W ~2~2 ~
#5 4 J8 3NW4 -430 Mean: 3DW6 170 50 1 #6 s J 5DXN5 550 Mean: 5DXN5 550 60 6
v 87642 3NW4 -430 -380 2NW5 210 50 1 v A754 4DN5 150 310  5DN5 400 3.0 2
¢ T95 Dif: 0 NS:-2 2Nw4 180 50 1 + KQ954 Dif: 400 NS:6 3HW-2 200 -3.0 1
» Q97 IMP: 0 EW:2 3NW3 400 1.0 1 & A43 IMP: 9 EW:4 4DN5 150 4.0 2
& KT64 a 52 3NW5 460 -20 1 ||a AK76 » T984 3HW-1 100 5.0 1
v AQ v JT95 3NW4 430 -20 8 ||w T9832 — v KQJ6 2HW3 140 100 1
¢ AJ63 + Q872 1SXS-2 500 3.0 1 ||e T6 * A7 1NN-3 150 100 1
& T43 & AKJ a»T7 » Q92
¢ VBN 4, AQI73 o ¢ VAN 4 Q532
N ~~~~~ v K3 N 55~~~
§ ~~~~~ + K4 S 55~~~ ¢J832
E ~6~~6 &8652 E ~~11~ &KJ865
W ~6~~6 W ~~11~
#7 » 83 2SN3 140 Mean: 3NN3 600 9.0 1 ||#38 » Q72 3NS-1-50 Mean: 3NN3 400 8.0 1
v A985 2SN3 140 180  4HW-3 300 3.0 1 v 9853 1NS190 50  3DS3 110 20 3
¢ 874 Dif: 0 NS:-1 3HW-2 200 1.0 1 + KQ62 Dif: -140 NsS:-3 2DS3 110 20 2
& AKT7 IMP: 0 EW:1 3SN3 140 1.0 1 & K9 IMP: -4 EW:-1 1NS1 90 1.0 1
» J96 a 52 2883 140 1.0 3 [|s A8 a T954 3CW-1 50 00 1
v KJT7 + v Q64 2SN3 140 1.0 5 ||e JT2 v KQ6 1NW-1 50 00 1
+ K96 * AQJ2 1SS3 140 1.0 1 |[|e AT7 ¢ 95 3NS-1 50 3.0 1
» 864 S » QJ92 2882 110 20 1 ||& Q7654 » T832 3NN-1 50 3.0 2
% ¢ VAN o, AKQT74 oo VAN 4, KIE3 4HN-2 100 -40 1
N ~~~33 932 N ~3222 v A74 3NS-2 100 40 1
S ~~~33 ¢T53 S ~3222 ¢J843
E ~1~~~ &53 E 2~~~~ aAJ
W ~1~~+~ W 2 ~~~~




112 F< 4 >2FMpERF R

2 ==> Rl1l

11

#1: 11 BB 5 (152.5) #2: 13 JEH 51, 73) #3: 10 FF$(130.68)

1 2 NS: 1B{EE FEFEC) 8 1 NS: &3;8 2I3CH(FA0) 1 VP:| 16.90 : 3.10 | Total VP: 111.23 Rank:
EW: ZEREIR EHEEHO) 18 EW: BREISC E32E(BAC) -8 IMP:| 31 9 6
I I -
#1 & AT62 2CN5 -150 Mean: 5CXN5 550 8.0 2 [|#2 » KQ932 4HWS5 450 Mean: 6HW-1 50 110 1
v 5CN5-400 230 5CN5 400 50 3 v A84 4SXN-3 800 -460 4HWA4 420 1.0 1
+ KQ96 Dif: 250 NS:5 3SN4 170 20 1 ¢ 8753 Dif: -350 NS:-8 5HW5 450 0.0 1
& AQ832 IMP: 6 EW:2 3CN5 150 2.0 2 &3 IMP: -8 EW:0 4HW5 450 0.0 7
» K97 # J85 2NS4 180 20 1 ||s » AJ76 4HE5 450 0.0 1
v KQ72 v AJ964 2CN5 150 2.0 2 ||e J9632 I v KQ75 5HXW5 650 -50 2
* 842 ¢ JT53 2CN4 130 -3.0 1 ||e AQ4 * J6 4SXN-3 800 -8.0 1
+ K65 &T 5CN-1 -50 7.0 2 ||» AT876 » Q94
d+VOBN 4,Q43 o ¢ VAN 4 T854
N 5~~32 ¢T853 N~1~1~+T
S 5~~32 ¢A7 S ~1~1~ ¢ KT92
E ~~1~~ &J974 E 4~5~3 &KJ52
W ~~1~~ W 4~5~3
#3 » 9854 1HXS-3 500 Mean: 3DXN-2  -300 7.0 1 ||# 4 » 853 3HS4 -170 Mean: 4HS4 620 4.0 10
v 52 3DXN-2 300 -580 1HXS-3 500 2.0 1 v A864 4HS4 -620 490  4SXW-1 200 7.0 1
+ KT9764 Dif: 200 NS:7 5CW5 600 1.0 1 ¢ J97 Dif: 450 NS:4 3HS4 170 8.0 2
IMP: 5 EW:-2 4HW4 620 1.0 1 & AQ6 IMP: 10 EW:8 2HS4 170 8.0 1
3NW3 600 -1.0 4 ||as AKJ4 & QT92
3NE3 600 -1.0 1 ||e 952 + v3
3NW4 630 -20 4 ||e Q852 * AT64
3NE4 630 -20 1 ||a& 52 » 9873
oo VAN ,76
N 3 ~4~2 v KQJT7
S 3~4~2 ¢K3
E ~2~2~ aKJT4
W ~2~2 ~
#5 4 J8 3NW4 430 Mean: 3DW6 170 50 1 #6 s J 3HW-2 -200 Mean: 5DXN5 550 60 6
v 87642 3NW5 460 -380 2NW5 210 50 1 v A754 5DXN5 -550 310  5DN5 400 3.0 2
¢ T95 Dif: -30 NS:-2 2NW4 180 50 1 + KQ954 Dif: 350 NS:6 3HW-2 200 -3.0 1
» Q97 IMP: -1 EW:2 3NW3 400 1.0 1 & A43 IMP: 8 EW:3 4DN5 150 4.0 2
& KT64 a 52 3NW5 460 -20 1 ||a AK76 » T984 3HW-1 100 5.0 1
v AQ v JT95 3NW4 430 -20 8 ||w T9832 — v KQJ6 2HW3 140 100 1
¢ AJ63 + Q872 1SXS-2 500 3.0 1 ||e T6 * A7 1NN-3 150 100 1
& T43 & AKJ a»T7 » Q92
¢ VBN 4, AQI73 o ¢ VAN 4 Q532
N ~~~~~ v K3 N 55~~~
§ ~~~~~ + K4 S 55~~~ ¢J832
E ~6~~6 &8652 E ~~11~ &KJ865
W ~6~~6 W ~~11~
#7 » 83 3SN3 -140 Mean: 3NN3 600 9.0 1 ||#38 » Q72 3NS-2100 Mean: 3NN3 400 8.0 1
v A985 2SN3 -140 180  4HW-3 300 3.0 1 v 9853 3NN-150 50  3DS3 110 20 3
¢ 874 Dif: 0 NS:-1 3HW-2 200 1.0 1 + KQ62 Dif: 50 NS:-3 2DS3 110 20 2
& AKT7 IMP: 0 EW:1 3SN3 140 1.0 1 & K9 IMP: 2 EW:4 1NS1 90 1.0 1
» J96 a 52 2883 140 1.0 3 [|s A8 » T954 3CW-1 50 00 1
v KJT7 + v Q64 2SN3 140 1.0 5 ||e JT2 v KQ6 1NW-1 50 00 1
+ K96 * AQJ2 1SS3 140 1.0 1 |[|e AT7 ¢ 95 3NS-1 50 3.0 1
» 864 S » QJ92 2882 110 20 1 ||& Q7654 » T832 3NN-1 50 3.0 2
% ¢ VAN o, AKQT74 oo VAN 4, KIE3 4HN-2 100 -40 1
N ~~~33 932 N ~3222 v A74 3NS-2 100 40 1
S ~~~33 ¢T53 S ~3222 ¢J843
E ~1~~~ &53 E 2~~~~ aAJ
W ~1~~+~ W 2 ~~~~




112 F< 4 >2FMpERF R

2 ==> Rl1l

11

#1: 11 BB 5 (152.5) #2: 13 JEH 51, 73) #3: 10 FF$(130.68)

1 3 NS: E=EE EHIRZEAC) -10 11 NS: BRZ5E FiEH(BRO) -3 VP:| 7.23 12.77| Total VP: 151.73 Rank:
EW: E&H 2k J51EBEO) 3 EW: #F 5 BREE(BAC) 10 IMP:| 13 20 2
I I -
#1 & AT62 5CN5 -400 Mean: 5CXN5 550 8.0 2 [|#2 » KQ932 4HWS5 450 Mean: 6HW-1 50 110 1
v 2CN5 -150 230 5CN5 400 50 3 v A84 5HXW5 650 -460 4HW4 420 1.0 1
+ KQ96 Dif: -250 NS:-2 3SN4 170 20 1 ¢ 8753 Dif: -200 NS:-5 5HW5 450 0.0 1
& AQ832 IMP: -6 EW:-5 3CN5 150 2.0 2 &3 IMP: -5 EW:0 4HW5 450 0.0 7
» K97 # J85 2NS4 180 20 1 ||s » AJ76 4HE5 450 0.0 1
v KQ72 v AJ964 2CN5 150 2.0 2 ||v J9632 I v KQ75 5HXW5 650 -50 2
* 842 ¢ JT53 2CN4 130 -3.0 1 ||e AQ4 * J6 4SXN-3 800 -8.0 1
+ K65 &T 5CN-1 -50 7.0 2 ||» AT876 » Q94
d+VOBN 4,Q43 o ¢ VAN 4 T854
N 5~~32 ¢T853 N~1~1~+T
S 5~~32 ¢A7 S ~1~1~ ¢ KT92
E ~~1~~ &J974 E 4~5~3 &KJ52
W ~~1~~ W 4~5~3
#3 » 9854 3NW3 600 Mean: 3DXN-2 300 7.0 1 ||#4 » 853 4SXW-1-200 Mean: 4HS4 620 4.0 10
v 52 3NW3 600 -580 1HXS-3 500 2.0 1 v A864 4HS4 -620 490  4SXW-1 200 7.0 1
+ KT9764 Dif: 0 NS:-1 5CW5 600 1.0 1 ¢ J97 Dif: 420 NS:4 3HS4 170 8.0 2
IMP: 0 EW:1 4HW4 620 1.0 1 & AQ6 IMP: 9 EW:7 2HS4 170 8.0 1
3NW3 600 -1.0 4 ||as AKJ4 & QT92
3NE3 600 -1.0 1 ||e 952 + v3
3NW4 630 -20 4 ||e Q852 * AT64
3NE4 630 -20 1 ||a& 52 » 9873
oo VAN ,76
N 3 ~4~2 v KQJT7
S 3~4~2 ¢K3
E ~2~2~ aKJT4
W ~2~2 ~
#5 4 J8 3NW4 430 Mean: 3DW6 170 50 1 #6 s J 5DXN5 -550 Mean: 5DXN5 550 60 6
v 87642 3NW4 430 -380 2NW5 210 50 1 v A754 4DN5 -150 310  5DN5 400 3.0 2
¢ T95 Dif: 0 NS:-2 2Nw4 180 50 1 + KQ954 Dif: -400 NS:-4 3HW-2 200 -3.0 1
» Q97 IMP: 0 EW:2 3NW3 400 1.0 1 & A43 IMP: -9 EW:-6 4DN5 150 4.0 2
& KT64 a 52 3NW5 460 -20 1 ||a AK76 » T984 3HW-1 100 5.0 1
v AQ v JT95 3NW4 430 -20 8 ||w T9832 — v KQJ6 2HW3 140 100 1
¢ AJ63 + Q872 1SXS-2 500 3.0 1 ||e T6 * A7 1NN-3 150 100 1
& T43 & AKJ a»T7 » Q92
¢ VBN 4, AQI73 o ¢ VAN 4 Q532
N ~~~~~ v K3 N 55~~~
§ ~~~~~ + K4 S 55~~~ ¢J832
E ~6~~6 &8652 E ~~11~ &KJ865
W ~6~~6 W ~~11~
#7 » 83 2SN3 -140 Mean: 3NN3 600 9.0 1 ||#38 » Q72 3NS-150 Mean: 3NN3 400 8.0 1
v A985 2SN3 -140 180  4HW-3 300 3.0 1 v 9853 1NS1-90 50  3DS3 110 20 3
¢ 874 Dif: 0 NS:-1 3HW-2 200 1.0 1 + KQ62 Dif: 140 NS:1  2DS3 110 20 2
& AKT7 IMP: 0 EW:1 3SN3 140 1.0 1 & K9 IMP: 4 EW:3 1NS1 90 1.0 1
» J96 a 52 2883 140 1.0 3 [|s A8 a T954 3CW-1 50 00 1
v KJT7 + v Q64 2SN3 140 1.0 5 ||e JT2 v KQ6 1NW-1 50 00 1
+ K96 * AQJ2 1SS3 140 1.0 1 |[|e AT7 ¢ 95 3NS-1 50 3.0 1
» 864 S » QJ92 2882 110 20 1 ||& Q7654 » T832 3NN-1 50 3.0 2
% ¢ VAN o, AKQT74 oo VAN 4, KIE3 4HN-2 100 -40 1
N ~~~33 932 N ~3222 v A74 3NS-2 100 40 1
S ~~~33 ¢T53 S ~3222 ¢J843
E ~1~~~ &53 E 2~~~~ aAJ
W ~1~~+~ W 2 ~~~~




112 F< 4 >2FMpERF R

2 ==> Rl1l

11

#1: 11 BB 5 (152.5) #2: 13 JEH 51, 73) #3: 10 FF$(130.68)

1 4 NS: L BEEEEIC) 9 3 NS: %XE £ X% (FO) 4 VP:| 12.77 : 7.23 | Total VP: 108.60 Rank:
EW: EiEHE BERZZEEO) 4 EW: 3RiEiE MEE(BAC) -9 IMP:| 7 0 7
I I -
#1 & AT62 3CN5 -150 Mean: 5CXN5 550 8.0 2 [|#2 » KQ932 4HWS5 450 Mean: 6HW-1 50 110 1
v 3SN4 -170 230 5CN5 400 50 3 v A84 5HWS5 450 -460 4HW4 420 1.0 1
+ KQ96 Dif: 20 NS:-2 3SN4 170 20 1 ¢ 8753 Dif: 0 NS:0 5HWS5 450 0.0 1
& AQ832 IMP: 1 EW:2 3CN5 150 2.0 2 &3 IMP: 0 EW:0 4HW5 450 0.0 7
» K97 # J85 2NS4 180 20 1 ||s » AJ76 4HE5 450 0.0 1
v KQ72 v AJ964 2CN5 150 2.0 2 ||e J9632 I v KQ75 5HXW5 650 -50 2
* 842 ¢ JT53 2CN4 130 -3.0 1 ||e AQ4 * J6 4SXN-3 800 -8.0 1
+ K65 &T 5CN-1 -50 7.0 2 ||» AT876 » Q94
d+VOBN 4,Q43 o ¢ VAN 4 T854
N 5~~32 ¢T853 N~1~1~+T
S 5~~32 ¢A7 S ~1~1~ ¢ KT92
E ~~1~~ &J974 E 4~5~3 &KJ52
W ~~1~~ W 4~5~3
#3 » 9854 3NW4 630 Mean: 3DXN-2 300 7.0 1 ||#4 » 853 4HS4 -620 Mean: 4HS4 620 4.0 10
v 52 3NW4 630 -580 1HXS-3 500 2.0 1 v A864 4HS4 -620 490  4SXW-1 200 7.0 1
+ KT9764 Dif: 0 NS:-2 5CW5 600 1.0 1 ¢ J97 Dif: 0 NS:4 3HS4 170 8.0 2
IMP: 0 EW:2 4HW4 620 1.0 1 & AQ6 IMP: 0 EW:-4 2HS4 170 8.0 1
3NW3 600 -1.0 4 ||as AKJ4 & QT92
3NE3 600 -1.0 1 ||e 952 + v3
3NW4 630 -20 4 ||e Q852 * AT64
3NE4 630 -20 1 ||a& 52 » 9873
oo VAN ,76
N 3 ~4~2 v KQJT7
S 3~4~2 ¢K3
E ~2~2~ aKJT4
W ~2~2 ~
#5 4 J8 1SXS-2 500 Mean: 3DW6 170 50 1 #6 s J 5DXN5 -550 Mean: 5DXN5 550 60 6
v 87642 3NW4 430 -380 2NW5 210 50 1 v A754 5DXN5 -550 310  5DN5 400 3.0 2
¢ T95 Dif: 70 NS:-2 2NW4 180 50 1 + KQ954 Dif: 0 NS:6 3HW-2 200 -3.0 1
» Q97 IMP: 2 EW:3 3NW3 400 1.0 1 & A43 IMP: 0 EW:-6 4DN5 150 4.0 2
& KT64 a 52 3NW5 460 -20 1 ||a AK76 » T984 3HW-1 100 5.0 1
v AQ v JT95 3NW4 430 -20 8 ||w T9832 — v KQJ6 2HW3 140 100 1
¢ AJ63 + Q872 1SXS-2 500 3.0 1 ||e T6 * A7 1NN-3 150 100 1
& T43 & AKJ a»T7 » Q92
¢ VBN 4, AQI73 o ¢ VAN 4 Q532
N ~~~~~ v K3 N55~~~y
§ ~~~~~ + K4 S 55~~~ ¢J832
E ~6~~6 &8652 E ~~11~ & KJ865
W ~6~~6 W ~~11~
#7 » 83 2SN3 -140 Mean: 3NN3 600 9.0 1 ||#38 » Q72 2DS3 -110 Mean: 3NN3 400 8.0 1
v A985 4HW-3 -300 180  4HW-3 300 3.0 1 v 9853 3DS3-110 50  3DS3 110 20 3
¢ 874 Dif: 160 NS:3  3HW-2 200 1.0 1 + KQ62 Dif: 0 NS:2 2DS3 110 20 2
& AKT7 IMP: 4 EW:1 3SN3 140 1.0 1 & K9 IMP: 0 EW:-2 1NS1 90 1.0 1
» J96 a 52 2883 140 1.0 3 [|s A8 » T954 3CW-1 50 00 1
v KJT7 + v Q64 2SN3 140 1.0 5 ||e JT2 v KQ6 1NW-1 50 00 1
+ K96 * AQJ2 1SS3 140 1.0 1 |[|e AT7 ¢ 95 3NS-1 50 3.0 1
» 864 S » QJ92 2882 110 20 1 ||& Q7654 » T832 3NN-1 50 3.0 2
% ¢ VAN o, AKQT74 oo VAN 4, KIE3 4HN-2 100 -40 1
N ~~~33 932 N ~3222 v A74 3NS-2 100 40 1
S ~~~33 ¢T53 S ~3222 ¢J843
E ~1~~~ &53 E 2~~~~ aAJ
W ~1~~+~ W 2 ~~~~




